5 % [;a _@_ vier Briiche, Reihenfolge der Operationen mit
VN0 Klammern
Name: Datum: Ergebnis:

1 I 1 I 3

( 53 G768 2%3
1 1 1 1

49+T7—)x == =6— )X - =

( )% < (12+6- )% -

2 31 I 1

——=(zt2)= I(=+=)+1=

5 5(3 ) (2 2)

1 12 3 I 1 3 3

-+ —(=—2)= —+)x Z+ =

5 2(3 5) (2 6) 2 2
1. 2 2 1

64+8+ =)x == 6(=—=)+6=

( 5) 3 (5 3) 6
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vier Briiche, Reihenfolge der Operationen mit

\ 5 Klammern
Name: Datum Ergebnis:
30153 3 111 3 1
10+ 14-)x2= 22— 152 e
(10 ) 2~ 10 P10 G 82717 1
11 131 111
49T S)x 2= 2 =]— 26— )% == —
@75~ 12" '12 (125622037 33
2 31 3 4 11
C e+ = (— (= +2)+1=1
5 5373 70%) G+3)
1 12 3 7 3,35 1
e Groxa+i=2-2
57237573 2727277
12 8 7 2 1
=8+ = —-—= — = 5— - — =)+ —
©4=8+ )X 3715 7575 8573)767 33
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